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An X"y will prove; for he is included in the rule of M AWwnon

OVERVIEW

In the process of deriving that 07y nX7Y7 are 2°nn a A2W; the X3 states
that even though 27y cannot be derived from o directly, since 1 is
stronger than 2°7¥ concerning 7wn27 [meaning that an admission cannot be
contradicted by witnesses; however 279 can be contradicted by other 2°7v
and it will invalidate their testimony], nevertheless we can dismiss this
refutation by pointing to an X"V who can be contradicted and invalidated
(through other >7v) and nevertheless is 21 a A»2w. Therefore, 07y also,
even though they can be contradicted, nevertheless they should be capable of
obligating a 7¥2aw. In our texts the word 7217 does not appear (either
concerning the strength of 15 [that there can be no 7117 on 9], nor in the
refutation of X"Y [that there can be a 77 by an X"¥]). The reason for this
omission is because concerning an X"Y there is no difference whether there
was a qwnoa of two 0*7¥ or a a1 of two 2°7v. In both instances the M7y is
5va and the X"V is considered a false witness, and nevertheless there is no
rule of ant 7wX>; we do not obligate the X"V to pay the monies as in the 7173
of two 2*7¥. Our N1BOIN maintains that we may include the word 7n1m.

—*503 1127 NNt 1 Yyw 1922 NN NIN ©9) 99V
The inclusion of the word ‘71177’ in the text is proper; since through the
mn of the X"V, his testimony is voided so it is similar to the 7217 of 227V *1W.

MooIN anticipates a question:
— Sn1tna PNRYUNY 1Y 9INRN HNTHa BYUN 1IN 1Y 1Y NN MYPNY PPN

And the X713 could not have asked, ‘why does 1°» obligate a 2w, since
"9 is stronger than 2°7Y in the sense that 15 does not pay if there was a

! mwnan is when a second pair of 7y contradict the story of the original 2*7v (or 7¥); while 17 is when the
second pair of 0°7v testify that the original 0>7¥ could not have seen this incident take place. By nwnan of
two 0’7y, the testimony of both is invalidated, and by nnr1 we believe the latter 2>7v. The original 27y
become M7y *709 and have to pay any damage the defendant would have incurred by their testimony.

* Our texts do not contain the word mar.

? In this sense X" is as ‘weak’ as 0°7v; by 079 and X", their testimony is refuted by ;17 (as opposed to 19
which is ‘stronger’ than X"¥1 07y, for 15 nX717 cannot be refuted by [wnom] anr). Since R"Y is as ‘weak’
as 0°7Y concerning [WnOM] 7117 we can use X"V as a 7' that 27y also can be 2nn a 712w just as X"V can.

* See “Thinking it over’ # 2.

> Therefore we cannot derive D7y (directly) from 1. (See ‘Thinking it over’ # 4.)
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s can you say that concerning the testimony of 237w, where they do

pay if there was a 1177°. The advantage of this question is -

- “DYWNRY N9 1NNR 1Y 9219 9195 XY IN)
That then the X713 could not respond, an X"y will prove you wrong for he
too pays by 717, The X7ni could not respond in this manner for indeed an X"Y (just like
1°9) does not pay if there was %17, There is no 3 or a 1"p, for both 10 and X"V are
(similarly) stronger than 0°7¥ with regard to 7177 in the sense that 279 pay and X"¥1 15 do
not pay. Why did not the &723 ask this question?!

mooin replies:
— N92IN 12N DN RINYI DHWN 1IN TYAY NN D

Because the reason why the 7¥ does not pay if he was 21 is not due to

the strength of an x"v -
— 1912 129919 1N IMTYAVY 29D NON

But rather on the contrary, there is no payment by the 7277 of an X"V, since
his testimony initially does not obligate monetary payments.

— TN NYI 2PYN HVI 1N DININ TaY
Therefore since his testimony is invalidated (as opposed to the testimony
of 1°9) the X"V is considered 77772 1w (that he is as weak as 0°7v), despite the fact
that he does not pay by 17, it is all part of his ‘weakness’. He does not pay because he
cannot obligate payment (only a 7312w). If we would ask 72172 22wn WX 1w 1Y an (a
strength of 19), we would be able to answer that an X"Y does not have this strength of 1
(which is that he does not pay and his testimony is upheld), but rather an X"V is (at least)
as weak as 07V in the sense that his testimony is invalidated.

mMooIN anticipates a question:
— "oy 199999 180 N1 YY 7IND

And shortly the X713 does ask this refutation of 721772 1Pn%wn XY on the 7%

T7X7. Seemingly how can we ask that the mwi 7% is stronger since it does not pay by 72717;
for we just concluded that the reason an X"Y does not pay is a weakness not a strength!

moon answers. The reason the X773 later asks this question is -
— %y 93 9999 139999 180 NN YT DIVN

% Others amend this to read '22wn 1Xw' [This would explain why we cannot say mav x"v.]

7 The xm3 concludes that we derive 079 from a 7877 7 of X"¥1 5. The X»3 challenges this 7371 77 arguing
that X"¥1 15 do not pay by %17 (they are not 7217 nn2), while 0°7v do pay. 1" rejects this X370 claiming
that 7" X% 73217 NN,

¥ When we are using X" as a 27 (that X"y should teach us concerning 2>7v), then to negate this 121 we
need to show that X"Y is stronger than 0>7v and this cannot be done by arguing that X"V does not pay 7112
(for this is a weakness, not a strength of X"Y). However when deriving from a 7371 7 (of two 0°71%1) which
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Because we can ask any type of refutation on a 777 7%, as long as there is a

practical difference, even though it is not necessarily ‘stronger or weaker’.
— DY P9 R 181 N9 HY 199N NN r29)

However n''1 does not consider this a refutation even on a 7377 17 -
— 915'\1)”‘1} 1T OIYS TYN BYYN INY I1NT DIVN

Because this which the 7y does not pay when he was amn, this is his

weakness -
11991 20Y IMTYA N 70 XYY raY

for he had no power in his testimony to impose a monetary obligation.

SUMMARY

There is no 7217 by an X"V because of the weakness of an X"v that he is not
T 2»nn. Therefore we consider that an X"V is 71132 1w°. However
concerning a X370 on the 7¥7 71 of X"¥ 1o (that they are not 713 n7IN2),
there is a dispute whether this is considered a valid 177 22 X270 or not; since
an X"V is not 29wn on account of his weakness.

THINKING IT OVER
1. Why is m901n (so) insistent that we include the word '7n13'?

2, moon asks why did not the X3 ask 2 oown K 1w 100 an.'° What is
meant that 1’5 does not pay by 7nmi. Let us assume that he admitted to
borrowing money from a mb» at a certain time and place. The 0°7¥ claim it
cannot be true because N7 1ny. If there could be a »177 7°7, who would have
to pay whom, will the "m>' have to pay himself?!

3. In a case where the defendant against the X"¥ cannot swear, the rule is he
1s required to pay. If 7"°2 ruled that he had to pay and the X"y was ani will
there be a 17 of ont MWK on this X"V to require him to pay?!"'

4. Is the question of '*mwpi> 1K1 dependent whether we are 71 07 or not?

is not as strong as deriving from one 1?7 (since each of the two individually could not teach us 0°7v), then
it is sufficient to refute the 7¥77 7in even with a 177 93 X37°D.

? "1 agrees that a 7%7 7in can be refuted with a 177 93 X270, That means, if the X37° expresses a difference
that is neither stronger nor weaker, but merely different. However if we are asking a &37°9 which shows the
weakness of an X"y, then that is no reason that the 7¥7 7n is refuted. On the contrary if even the weak X"¥
can be 2°1» a 712w, then certainly the strong 0°7¥ can be 2nn a Ay1AW.

' See footnote # 4.

' See "nx # 16.

2 See footnote # 5.
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